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OPEN  SOLVING  TOURNEY:  SOLUTIONS 
 

(1)  1.Qg8 (5 points) thr. 2.R6xe5#, 1. - Kxe4, Sxc5 2.Qeg2, R4xe5# 1.Qg2?, Qd1?, Re3?, Re2? Shf2!, 
Bf6!, e4!, Ba2!   

(2)  1.Kf7 thr. 2.Rxe6+ Sxe6 3.Qd5# 1. - Rd4 2.Be4 ~ 3.Rg5/Bf4# 1. - Bf5/Be4 2.Re4+ Rxe4, Bxe4 
3.Sd3, Sg4# 1. - Bxg6 2.Sxg6+ ~, Kd5 3.Rg5, Rxe6#   

(3)  1.Kc5 Kf8 (1. - a4? 2.Kd6 a3 3.e7 Kf7 4.Kd7) 2.Kd6 Ke8 3.Kc7 a4 4.Kxb7 a3 5.Kc6 5. - a2 6.b7 
a1Q 7.b8Q+ Ke7 8.Qd6+ 8. - Kf6 9.Qf8+ (9.e7+? Kf7 10.Kxg6+ Kxg6 11.e8K+ Kf5 12.Qf8+ 
Qf6+ =) 9. - Kxe6 10.f5+ gxf5 11.Qe8+ Kf6 12.Qh8+ 1-0   

(4)  1.Qd3 Rb1 2.Kxc5 Sxd3# 1.Dxf4 Bh4 2.Kxe6 Sxf4# 1.Qxc5 Sxc5 2.Rxd1 Sfd3# 1.Qxe6 Sxe6 
2.Rxg3 Sdf4#   

(5)  1.Ke2 zz 1. - a2 2.Sxe5 fxe5 3.Bb2 ~ 4.Rxe5# 1. - h3 2.Se3+ Kf4 3.Sf1+ Kf5 4.Sg3# 1. - cxb4 
2.Sd4+ exd4 3.Re4 ~ 4.Se7# 1. - Sf8 2.Sxh4+ gxh4 3.Bxh6 ~ 4.Se3# 1. - Sb6 2.Sxb6 ~ 3.Sc8 ~ 
4.Sd6# 1. - Sc7 2.Sxc7 ~ 3.Sb5(Se6) ~ 4.Sd6#   

(6)  1.Ba5 thr. 2.Sxf4+ Kd4 3.ce6+ Kd3 4.Sc5+ Kd4 5.Sxb3+ Kd3 6.Re3+ Sxe3# 1. - a1S 2.Be4+ 
Kxc4 3.Bd5+ Kd3 4.Bxb3+ Ke4 5.d3+ Ke3 6.Bd2+ Sxd2# 1. - Sg4 2.Bxf3+ Kxc4 3.Bd5+ Kd3 
4.Bg2+ Kc4 5.Sd6+ Kd3 6.Bxf1+ Kxf1#   

(7)  1.Bg4 thr. 2.Be6#, 1. - Q~, Qxc6, S~, Bxe2, Rxf7, Rd8, Re8 2.Sxa5, Rxc6, Rc3, Bxe2, Qxf7, Se5, 
Sd6#   

(8)  1.Qg1 thr. 2.Sc2+ Kxd3 3.Qed1# 1. - e2 2.f4+ Re3 3.fxg5# 1. - b3 2.c5+ Qb4 3.c6# 1. - Rxg4 
2.Qxg4+ Bf4 3.Qxf4# 1. - exf2 2.Qxf2+ Be3 3.Qxf6# 1. - Sf3 2.Sxf3+ Kxd3 3.Qed1# 1. - dxc4 
2.bxc4 ~, b3 3.Sc2, Bxb3#   

(9)  1.Ke5+ Kg4 2.Re4+ Kf5 (2. - Kf3? 3.Bd5) 3.Bb1 (3.Bd5? a5 =) 3. - Ra1 4.Re5+! 4. - Kf6! 5.Rf5+ 
(5.Bc3? Rxb1+ 6.Kc2 Rb6! =) Kg6! 6.Rf6+ Kg7 7.Rg6+! (7.Bc3? Rxb1+ 8.Kc2 Rb5! =) Kh7 
8.Rg7+ Kh8 9.Rh7+ (9.Bc3? Rxb1+ 10.Kc2 Rb6 11.Rxf7+ Kg8 12.Rg7+ Kf8 13.Rxa7 =) 9. - Kg8 
10.Rh8+ Kxh8 11.fc3+ 1-0   

(10)  1.Kd7 Kxe2 2.Ke6 Kf1 3.Kf5 Be4 4.Kg4 Kg2 5.Qf5 Bf3# 1.Bb5 Ke4 2.Qc3 Kxd5 3.Bc4 Kc6 
4.Qg7 Kc7 5.Qf8 Bc6#   

(11)  1.e8S thr. 2.Sc7# 1. - Ra7 2.Bd1 Sg5 3.Bb3+ axb3 4.Sd1 ~, Ra1 5.Se3, Sc7# 1. - Rb7 2.Sd1 Bg5 
3.Sc3+ bxc3 4.Bd1 ~, Rb1 5.Bf3, Sc7#   

(12)  1.e6 thr. 2.Qef6+ Rxf6+ 3.Sf5+ Rxf5# 1. - Qf1 2.Rxd3+ Qxd3 3.fxe3+ Qxe3# 1. - Qh1 2.Rxd5+ 
Qxd5 3.Be5+ Qxe5# 1. - Sxc4 2.fxe3+ Sxe3 3.Rxd5+ Sxd5# 1. - Sc6 2.fe5+ Sxe5 3.Rxd3+ Sxd3#   

 

 


